The City of Winnipeg
Tender No. 228-2020

APPENDIX ‘F’

TRAFFIC SIGNALS DRAWINGS



CONSTRUCTION NOTES:

PROJECT SCOPE
1. INSTALL CONDUIT AND BASES AS SHOWN.

2.

REBUILD SERVICE AND INSTALL GROUND ROD ON SOUTHWEST

QUADRANT AS SHOWN.

INSTALL MAST AND DISCONNECT

150mm BELOW LOWEST HYDRO WIRE. TOTAL LENGTH OF
SERVICE CABLE: 30m.

INSTALL EQUIPMENT AS SHOWN.
DISCONNECT LOOP #1 AS SHOWN.
TIMINGS REQUIRED.

PROJECT COORDINATION

MARYLAND STREET

v/

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

MARYLAND STREET

P8

vd

V:\Traffic Signals\7. Projects\Broadway & Maryland S-1696\Current_Broadway & Maryland S-1696.dwg

1. COORDINATE WORK WITH (CA’s NAME), (204) XXX—XXXX.
2. COORDINATE HYDRO SERVICE INSTALLATION WITH GEORGE
WEDDALL, (204) 360-7451. RE: JUTA PERMIT No. B23033 L':
3. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL =
OF JOINT USE POLE #E7 WITH DARREN TABAK, (204) 2
360—7521. @)
@
m
P6 ~
@ @@@ 25
P6 @/ N,
4 © = B
. e 1 @ oL L2 2k
2. E\ 5 S OIS ® 7. ‘
¥ 9. (90°) 35’
7: (907)
>
= ® -
2
S 1.
(0l
m
REMOVE &
REPLACE WITH
PRECAST PIT EQUIPMENT DISPLAY LEGEND
7 EXISTING PROPOSED (AS SHOWN BELOW)
@ 1)
/]  PEDESTRIAN HEAD J XEEL?LE DETECTION Bl TRAFFIC SIGNAL HEAD 12 LOW ARM (SHOWN FROM CENTRE)
© HIGH ARM (SHOWN FROM SIDE)
?os'BEEAEKINEDgﬁEEOEE/EG%VOgE'S 1249 TS LE_LINE (NOT IN USE) & B
S— PEDESTRIAN HEAD PUSH BUTTON &
) ( HYDRO FROM_ SHERBROOK ST., WITH PCS PB o DIRECTION @ TRAFFICSIGNALPOLE ~ (® REDFLASHER D LUMINAIRE
SEE DWG. S—1249
N ®
| ROADWAY & SIDEWALK CONSTRUCTION TR, Dues Aeshole o pespuonzcron B mestiaseR Q) cuvens
S TO BE COMPLETED BY OTHERS (TYP.)
NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
1. | 35" SIGNAL FOR 150 WATT LUMINAIRE 4 | OD | DD
N1o0. \
xR’EBUILD SERVICE AND INSTALL GROUND E7.
ROD ON SOUTHWEST QUADRANT. INSTALL
MAST AND DISCONNECT 150mm BELOW
w LOWEST HYDRO WIRE
PUBLIC LANE w 6. | CANTILEVER 12" | OD | DC
7. | 35" SIGNAL FOR 240 WATT LUMINAIRE 8 | oD | DD
8. | CANTILEVER 16" | OD | DC
9. | 332 CABINET/2070 CONTROLLER
10.
p E DERGROUND CONSTRUCTIO T
1:250
TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
EXISTING PROPOSED (AS SHOWN BELOW) DIA.
ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
1 1/2" PE CONDUIT ——— POLE BASE ®) TYPE"A" -8 1/8" -
TYPE "B" - 6 3/4" /’ A
2" PE CONDUIT ———. - CONTROLLER BASE TYPE "C* - 8 1/8" SCREW TYPE v 4
2" ENT CONDUIT T e e PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
. TYPE "F" - 9 9/16"
BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
SPLICE = - 30" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
) TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
W 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
SAW-CUT LOOPS TYPE "I" - 7 34"
REMOVAL TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAIN ) w— PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS AecouNTS: FGINEERS SEAL
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 500 SEWER CURB&CURBRAMP | —— STREET LIGHT Laad UNDERGROUND STRUCTURES ID DATE (vyvvmmioD) ‘ N 7’nni e PUBLIC WORKS DEPARTMENT
MANHOLE O WARNING TILE B BANNER POLE o o B?'S' PRELIMINARY 1 P g TRANSPORTATION DIVISION
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE m LIABILITY DlSCLAlMER NOT'CE
— - WATER & WASTE REVIEW I TS, NeoiATN Ve o oun comveEce e NOT FOR
CURB INLET v CULVERT b - GUY-WIRE — C.H. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
. . NOTE: INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
HYDRO — - — BUILDING ’ FENCE LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST CHECKED BY ::',“J’SSOMSAETS'O%NEE A':FDORS“’LAJL'E'; SBHEOUCER%EE‘)JSEB[; FSOSRVPELCNNT”:E TRAFFIC SIGNALS
100 GAS . ‘ :
o e — = & CUARDRA SHOMN OR THAT THE GIVEN LOCATIONS ARE EXACT. CONFIRMATION OF EXISTENGE AND CEFARTMENT SHALL NOT IN ANV WAV SLFFER ANY LABITY BROADWAY & MARYLAND ST. PRAVING NUMBER
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW 2020/03/25 RS SUFFERED BY SUCH PARTY ARISING EROM THEIIY? USE OF, OR RELIANCE 8_1 696
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | serore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE By UPON. THIS INFORMATION. ’
. (YYYY/MM/DD) APPROVED BY g



AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
250 W.M. (ABAND.)

AutoCAD SHX Text
200 W.M. (ABAND.)

AutoCAD SHX Text
W

AutoCAD SHX Text
1675 S.R.S.

AutoCAD SHX Text
600 SEWER

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
450 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
GAS

AutoCAD SHX Text
600 S.R.S.

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
450 SEWER

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
200 W.M.

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
450 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
GAS

AutoCAD SHX Text
600 S.R.S.

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
C

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) & HYDRO FROM SHERBROOK ST., SEE DWG. S-1249

AutoCAD SHX Text
T.S. TIE LINE TO PORTAGE AVE.     TO BE ABANDONED, SEE DWG. S-1249

AutoCAD SHX Text
6.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
2.

AutoCAD SHX Text
1.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
11.

AutoCAD SHX Text
10.

AutoCAD SHX Text
TREE WELL (TYP.)

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION VAULT

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
REBUILD SERVICE AND INSTALL GROUND ROD ON SOUTHWEST QUADRANT. INSTALL MAST AND DISCONNECT 150mm BELOW LOWEST HYDRO WIRE

AutoCAD SHX Text
1350 S.R.S.

AutoCAD SHX Text
C

AutoCAD SHX Text
REMOVE & REPLACE WITH PRECAST PIT

AutoCAD SHX Text
E7.

AutoCAD SHX Text
7.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
15'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
16'

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
P

AutoCAD SHX Text
12'

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
6.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
2.

AutoCAD SHX Text
1.

AutoCAD SHX Text
8.

AutoCAD SHX Text
4'

AutoCAD SHX Text
12'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
NB

AutoCAD SHX Text
EB

AutoCAD SHX Text
8'

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
WB

AutoCAD SHX Text
NB

AutoCAD SHX Text
7.

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
(0°)

AutoCAD SHX Text
(180°)

AutoCAD SHX Text
P6

AutoCAD SHX Text
P6

AutoCAD SHX Text
P6

AutoCAD SHX Text
P2

AutoCAD SHX Text
P3

AutoCAD SHX Text
P8

AutoCAD SHX Text
P4

AutoCAD SHX Text
P4

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
WB

AutoCAD SHX Text
SB

AutoCAD SHX Text
10'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
C

AutoCAD SHX Text
9.

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
1.

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
BROADWAY

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
BROADWAY

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
9.

AutoCAD SHX Text
10.

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
15' SIGNAL

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
HYDRO M.H. #4013-1

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
TIE LINE EAST

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
AD

AutoCAD SHX Text
A

AutoCAD SHX Text
12'

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
8.

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
4'

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT AND BASES AS SHOWN. INSTALL CONDUIT AND BASES AS SHOWN. 2. REBUILD SERVICE AND INSTALL GROUND ROD ON SOUTHWEST REBUILD SERVICE AND INSTALL GROUND ROD ON SOUTHWEST QUADRANT AS SHOWN. INSTALL MAST AND DISCONNECT 150mm BELOW LOWEST HYDRO WIRE. TOTAL LENGTH OF SERVICE CABLE: 30m. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 4. DISCONNECT LOOP #1 AS SHOWN. DISCONNECT LOOP #1 AS SHOWN. 5. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE INSTALLATION WITH GEORGE COORDINATE HYDRO SERVICE INSTALLATION WITH GEORGE WEDDALL, (204) 360-7451. RE: JUTA PERMIT No. B23033 3. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF JOINT USE POLE #E7 WITH DARREN TABAK, (204) 360-7521.

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
8'

AutoCAD SHX Text
E7.

AutoCAD SHX Text
DD

AutoCAD SHX Text
11.

AutoCAD SHX Text
35' SIGNAL FOR 240 WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
16'

AutoCAD SHX Text
DC

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
CANTILEVER


V:\Traffic Signals\7. Projects\Maryland & Sara S-2000\Current_Maryland & Sara S-2000.dwg

CONSTRUCTION NOTES:

PROJECT SCOPE
INSTALL CONDUIT AND BASE AS SHOWN.
TOTAL LENGTH OF SERVICE CABLE: 50m.

1.

2.
3.
4

INSTALL EQUIPMENT AS SHOWN.

CROSSING TIME:

PROJECT COORDINATION

17 SECONDS.

MARYLAND STREET

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

MARYLAND STREET

EB

- (<
o "9'—‘
o0

W 35

1. COORDINATE WORK WITH (CA’s NAME),
(204) XXX—XXXX. w
3.
\\
LJ
2
Z
S
<
<
(0
<€
n
—
PROPOSED CATCH BASIN
" & CATCH BASIN LEAD BY e
OTHERS (TYP.)
SERVICE TO SHERBROOK ST.,
SEE DWG. S—1999
1.60 |
1 S 2.00 il. < il
—_._._ 1l al2
JL LT N \
N\ « \
| 3.
\
J
-
Z
S
<
&
— < PUBLIC LANE
m 1 1
I:_ |:| I EQUIPMENT DISPLAY LEGEND
- EXISTING PROPOSED (AS SHOWN BELOW)
¢——BuUs ® ,
STOP /]  PEDESTRIAN HEAD XEE}ELE DETECTION Bl TRAFFIC SIGNAL HEAD 12 LOW ARM (SHOWN FROM CENTRE)
© HIGH ARM (SHOWN FROM SIDE)
ROADWATY & SIDEWALK CONSTRUCTION PEDESTRIAN HEAD PB PUSH BUTTON & @ TRAFFICSIGNALPOLE  (® RED FLASHER ) LUMINAIRE
TO BE COMPLETED BY OTHERS (TYP.) % WITH PCS —=  DIRECTION
PEDESTRIAN APS SINGLE N APS DUAL DIRECTION ® AMBER FLASHER
-.'k CORRIDOR BOX DWEB  pirecTion Dy (2 sePARATE SPEAKERS) ® (CReuT A" OR"S) © CcAMERA
NO. EQUIPMENT LIST ARM |BASE| B.B. | [ NO. EQUIPMENT LIST ARM |BASE| B.B.
1. | 35" SIGNAL FOR 150 WATT LUMINAIRE 8 | OD | DD
‘ 2. | 35 SIGNAL FOR 150 WATT LUMINARE | 12’ | OD | DD
|
‘ 4.
1:250
TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
EXISTING PROPOSED (AS SHOWN BELOW) DIA.
ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
1 1/2" PE CONDUIT ——— POLE BASE o) TYPE"A" -8 1/8" -
TYPE "B" - 6 3/4" /’ 3
2" PE CONDUIT —re—. — CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE v
2" ENT CONDUIT e PEDESTAL BASE Fl TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
. TYPE "F" - 9 9/16"
BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
SPLICE = - 30" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
. TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
SAW-CUT LOOPS TYPE "I"- 7 3/4"
REMOVAL TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAIN e PROPERTYLINE | — — — — TELEPHONE — TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS AecouNTS: FGINEERS SEAL
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (J‘ THE CITY OF \;\/ I | \] | Q IPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB & CURB RAMP - r— STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvvymmD) RS Win ) e PU BL I C WO RKS DEPARTM ENT
® WARNING TILE = . S. PRELIMINARY mpeg TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —l'lTI‘l'I'l'ITI_ RAILWAY POLE £ LIABILITY DISCLAIMER NOTICE:
THE DIGITAL INFORMATION PROVIDED FOR YOUR CONVENIENCE HEREIN .
CURB INLET \V4 CULVERT mT T T - GUY-WIRE — WATER & WASTE REVIEW ID IS FOR USE AT YOUR OWN RISK. THE CITY OF WINNIPEG, PUBLIC WORKS NOT FOR UNITS:
e - C.H. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYDRO _ _HYDRO_ BUILDING 777777 FENCE NOTE: INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
" " LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST A SSUED FOR INTERNAL REVIEW oz00aio5 | RS CHECKEDBY DJ»SF?OMSAET;O%NEE A':FDOR&AJL'E'; S;EOU\I;ERﬁ:IIEEI;JSEB[\; FS?LTR\flli_éNN'Il'NHE PEDESTRIAN CORRI DOR
GAS 100 GAS TREE GUARDRAIL INFORMATION AVAILABLE. BUT NO GUARANTEE IS GIVEN THAT ALL EXISTING UTILITIES ARE . ' :
@ SHOWN OR THAT THE GIVEN LOCATIONS ARE EXACT. CONFIRMATION OF EXISTENCE AND DEPARTMENT - SHALL NOT IN ANY 'WAY SUFFER ANY LIABILITY MARYLAN D ST. & SARA AVE . DRAWING NUMBER
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES 0 ISSUED FOR UGS APPROVAL 2020/01/30 R.S. WHATSOEVER TO ANY PARTY FOR INJURY, LOSS OR DAMAGES S 2000
SUFFERED BY SUCH PARTY ARISING FROM THEIR USE OF, OR RELIANCE -
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | BeFore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE By UPON. THIS INFORMATION ’
. (YYYY/MM/DD) APPROVED BY g .



AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
2.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
12'

AutoCAD SHX Text
PB

AutoCAD SHX Text
8'

AutoCAD SHX Text
PB

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
WB

AutoCAD SHX Text
EB

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
35'

AutoCAD SHX Text
1.

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
35'

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
450 LDS

AutoCAD SHX Text
450 SEWER

AutoCAD SHX Text
SL

AutoCAD SHX Text
450 LDS

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
375 SEWER

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
250 SEWER

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
SL

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
P

AutoCAD SHX Text
SERVICE TO SHERBROOK ST., SEE DWG. S-1999

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
2.

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
SL

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
PROPOSED CATCH BASIN & CATCH BASIN LEAD BY OTHERS (TYP.)

AutoCAD SHX Text
R

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
1.

AutoCAD SHX Text
R

AutoCAD SHX Text
3.

AutoCAD SHX Text
P

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
1.

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
SARA AVENUE

AutoCAD SHX Text
4.

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
DISCONNECT PEDESTAL

AutoCAD SHX Text
SARA AVENUE

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
12'

AutoCAD SHX Text
1-BREAKER BOX FOR CORRIDOR

AutoCAD SHX Text
1-BREAKER BOX FOR S-1999

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT AND BASE AS SHOWN. INSTALL CONDUIT AND BASE AS SHOWN. 2. TOTAL LENGTH OF SERVICE CABLE: 50m. TOTAL LENGTH OF SERVICE CABLE: 50m. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 4. CROSSING TIME: 17 SECONDS. CROSSING TIME: 17 SECONDS. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX.

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD


TRAFFIC SIGNALS EQUIPMENT DISPLAY

N.T.S. MARYLAND STREET

CONSTRUCTION NOTES:

PROJECT SCOPE
1. INSTALL CONDUIT, BASES AND PITS AS SHOWN.

V:\Traffic Signals\7. Projects\Maryland & Westminster S-1705\Current_Maryland & Westminster S-1705.dwg

2. INSTALL SERVICE AND GROUND ROD ON WOOD POLE
#10 AS SHOWN. INSTALL MAST AND DISCONNECT ON MARYLAND STREET
NW QUADRANT. REMOVE EXISTING SERVICE FROM WOOD
POLE #E10. TOTAL LENGTH OF SERVICE CABLE: 50m.
3. INSTALL EQUIPMENT AS SHOWN.
PROJECT COORDINATION
1. COORDINATE WORK WITH (CA’s NAME), (204) N
XXX —XXXX. g
2. COORDINATE HYDRO SERVICE REBUILD WITH GEORGE P g @ 00
WEDDALL, (204) 360-7451. RE: JUTA PERMIT No. :‘\ | g = @@ 0-
B23034 ] <
3. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE g e
REMOVAL OF EXISTING JOINT USE POLES #E3 AND #E7 L
WITH DARREN TABAK, (204) 360-7521, \E PROPOSED CATCH BASIN 'U_')
dtabak@hydro.mb.ca. & CATCH BASIN LEAD =z
BY OTHERS (TYP.) =
=
'—
()]
=
o o
S S - —
o~ 1.90 170 N - @@@ 2
. PUBLIC LANE = P6 0
© N
e = 7. w = @ .
R | z. ps | 1
= ®)| [z 9
8. i WB
L] R W) | 8%
: r - S
n K E10. (%U‘j_) 2.35
<
@
L g
—
0
Z
=
—
()
L
=
EQUIPMENT DISPLAY LEGEND
PE e ¢ ¢ e P e« . . v+ e PE .. EXISTING PROPOSED (AS SHOWN BELOW)
} N\,
—— . \. ® ,
s 500 . T /]  PEDESTRIAN HEAD yEHICLE DETECTION @ TRAFFIC SIGNALHEAD ~ (@——2—  LOWARM (SHOWN FROM CENTRE)
/O 80 150 | = \. © HIGH ARM (SHOWN FROM SIDE)
: ' . TO BE REMOVED ’
- R BY OTHERS g\:gggll-\ll;\lé\ACAI'SBNA'\ll\R/V />‘ 10. % i o VHEAD PR PUSHBUITON & @ TRAFFICSIGNALPOLE ~ (® REDFLASHER  [) LUMINAIRE
(@] ]
QUADRANT OF POLE PEDESTRIAN owgg  APS SINGLE oY) APS DUAL DIRECTION ® AMBER FLASHER © CAMERA
w CORRIDOR BOX DIRECTION Y (2 SEPARATE SPEAKERS) ® (CReuTaor'e)
.\\
\‘>ROADWAY & SIDEWALK CONSTRUCTION NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
*7|| O BE COMPLETED BY OTHERS (TYP.) 1. | 35 SIGNAL FOR 150 WATT LUMINARE | 12’ | OD | DD | |ES. (TO BE REMOVED)
2. | 35" SIGNAL FOR 90 WATT LUMINAIRE 8 | OD | DD ||E7. (TO BE REMOVED)
‘ 3. | CANTILEVER g8 | oD | DC ||[E10.
| 4. 115" SIGNAL A A
5. | CANTILEVER 12’ | OD | DC
‘ 6. | 35" SIGNAL FOR 150 WATT LUMINAIRE oD | DD
|
‘ 7. 110" SIGNAL A A
w 8. 15" SIGNAL A A
9. | 332 CABINET/2070 CONTROLLER
SERVICE:
TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
PLAN VI EW: U N DERG ROU N D CONSTRUCTION EXISTING PROPOSED (AS SHOWN BELOW) —m7m1— DIA.
1:250 ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
‘ 1 1/2" PE CONDUIT ———— POLE BASE o TYPE "A" - 8 1/8" _
TYPE "B" - 6 3/4" (’ A
2" PE CONDUIT ———. - CONTROLLER BASE TYPE "C"- 8 1/8" SCREW TYPE v o
2" ENT CONDUIT —r—r— PEDESTAL BASE Fl TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
AERIAL /BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
. TYPE "F" - 9 9/16"
BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
SPLICE = - 30" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
) TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
W 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
SAW-CUT LOOPS TYPE "I" - 7 34"
REMOVAL TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAIN —10W___ | ————— | PROPERTYLNE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS ACCOUNTS: FNGINEER'S SEAL
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (J‘ THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB & CURB RAMP - r— STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvyYMmiDD) Won ° PU BLIC WO RKS DEPARTM ENT
MANHOLE O WARNING TILE B BANNER POLE - RS. PRELIMINARY 1 I]']'Peg TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —l'lTI‘l'I'l'ITI_ RAILWAY POLE ~®2 LIABILITY DISCLAIMER NOTICE:
———— - WATER § WASTE REVIEW D T DT NeOATON ROV o Yousconece e NOT FOR
CURB INLET v CULVERT oo - GUY-WIRE — C.H. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
. . NOTE: INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
HYDRO — - — BUILDING ’ FENCE LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST CHECKEDBY ::',“J’S;OMSAETS'O%NEE A':FDOR&AJL'E'; SBHEOU\';ERi'leE‘)JSEB[; FSOLTRVPI'E-CNNT”’“E TRAFFIC SIGNALS
ws | _—moes O e S o v ek oy MARYLAND ST. & WESTMINSTER AVE.  [mermees
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW 2020/03/25 RS WHATSOEVER TO ANY PARTY FOR INJURY, LOSS OR DAMAGES S 1 705
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPQOSED | serore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE By ﬁggLEiﬁ?s?,:F%UwaHA?ngJYAR'S'NG FROM THEIR USE OF, OR RELIANCE -
. (YYYY/MM/DD) APPROVED BY , .



AutoCAD SHX Text
P

AutoCAD SHX Text
W

AutoCAD SHX Text
150 W.M. (ABAND.)

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
200 W.M.

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
1200x1550 SEWER

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
1350x1800 SEWER

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
BUS SHELTER

AutoCAD SHX Text
UNKNOWN PEDESTAL

AutoCAD SHX Text
TELEPHONE BOOTH

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
C

AutoCAD SHX Text
E3.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
INSTALL MAST AND DISCONNECT ON NW QUADRANT OF POLE

AutoCAD SHX Text
6.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
E10.

AutoCAD SHX Text
E7.

AutoCAD SHX Text
PROPOSED CATCH BASIN & CATCH BASIN LEAD BY OTHERS (TYP.)

AutoCAD SHX Text
TO BE REMOVED BY OTHERS

AutoCAD SHX Text
BUILDING OVERHANG

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
W

AutoCAD SHX Text
10.

AutoCAD SHX Text
7.

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
6.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
12'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
15'

AutoCAD SHX Text
12'

AutoCAD SHX Text
35'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
NB

AutoCAD SHX Text
WB

AutoCAD SHX Text
EB

AutoCAD SHX Text
NB

AutoCAD SHX Text
P

AutoCAD SHX Text
SB

AutoCAD SHX Text
EB

AutoCAD SHX Text
SB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
35'

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
35'

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
(0°)

AutoCAD SHX Text
(0°)

AutoCAD SHX Text
(180°)

AutoCAD SHX Text
(180°)

AutoCAD SHX Text
P6

AutoCAD SHX Text
P6

AutoCAD SHX Text
P6

AutoCAD SHX Text
P2

AutoCAD SHX Text
P8

AutoCAD SHX Text
P8

AutoCAD SHX Text
P4

AutoCAD SHX Text
P4

AutoCAD SHX Text
15'

AutoCAD SHX Text
WB

AutoCAD SHX Text
P

AutoCAD SHX Text
10'

AutoCAD SHX Text
7.

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
1.

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
2.

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
3.

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
WESTMINSTER AVENUE

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
WESTMINSTER AVENUE

AutoCAD SHX Text
8'

AutoCAD SHX Text
15' SIGNAL

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
15' SIGNAL

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. INSTALL CONDUIT, BASES AND PITS AS SHOWN. 2. INSTALL SERVICE AND GROUND ROD ON WOOD POLE INSTALL SERVICE AND GROUND ROD ON WOOD POLE #10 AS SHOWN. INSTALL MAST AND DISCONNECT ON NW QUADRANT. REMOVE EXISTING SERVICE FROM WOOD POLE #E10. TOTAL LENGTH OF SERVICE CABLE: 50m.  3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE REBUILD WITH GEORGE COORDINATE HYDRO SERVICE REBUILD WITH GEORGE WEDDALL, (204) 360-7451. RE: JUTA PERMIT No. B23034 3. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF EXISTING JOINT USE POLES #E3 AND #E7 WITH DARREN TABAK, (204) 360-7521, dtabak@hydro.mb.ca.

AutoCAD SHX Text
35' SIGNAL FOR 90 WATT LUMINAIRE

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
E3.

AutoCAD SHX Text
E7.

AutoCAD SHX Text
E10.

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
30' S.L. (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
30' S.L. (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
A

AutoCAD SHX Text
A


CONSTRUCTION NOTES:

PROJECT SCOPE

1. INSTALL CONDUIT, BASES AND PITS AS SHOWN.
2. INSTALL SERVICE AND GROUND ROD ON WOOQOD

POLE #8 AS SHOWN. INSTALL MAST AND

DISCONNECT ON SW QUADRANT. REMOVE EXISTING
SERVICE FROM WOOD POLE #E8. TOTAL LENGTH OF

SERVICE CABLE:

125m.

S. INSTALL EQUIPMENT AS SHOWN.
4. TIMINGS REQUIRED.

PROJECT COORDINATION
1. COORDINATE WORK WITH (CA’s NAME), (204)

XXX—=XXXX.

2. COORDINATE HYDRO SERVICE INSTALLATION WITH
PHILLIP BRUCE, (204) 782-2465. RE: JUTA PERMIT

No. B23083

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

MARYLAND STREET

MARYLAND STREET
PUBLIC LANE

v

wog.

/ \INSTALL MAST AND

6.
Neg DD
SB 4

DISCONNECT ON
NORTHEAST QUADRANT

L
)
=
Y
~
g
0.60 E8. 9
REMOVE & g
REPLACE WITH
PRECAST PIT

4.50

SERVICE TO SHERBROOK ST.,

WOLSELEY AVENUE

SEE DWG. S—-1552

P8
®|12
®
©

(180°)

o
N

S
S
@

o S PE c— /
M3 .
.
(W)

v

PROPOSED CATCH

BASIN BY OTHERS

@03

B>

T
0]

8.1

d
©
)
&

—
©
<

~—

€e0
z
[

EQUIPMENT DISPLAY LEGEND

EXISTING

Z PEDESTRIAN HEAD

AREA

PEDESTRIAN HEAD PB PUSH BUTTON &
WITH PCS DIRECTION

* PEDESTRIAN DWEB APS SINGLE
CORRIDOR BOX DIRECTION

PROPOSED (AS SHOWN BELOW)

VEHICLE DETECTION

B 12’
@ TRAFFIC SIGNAL HEAD

LOW ARM (SHOWN FROM CENTRE)

© HIGH ARM (SHOWN FROM SIDE)

. TRAFFIC SIGNAL POLE

Dl/} (2 SEPARATE SPEAKERS)

® REDFLASHER ) LUMINAIRE

® AMBER FLASHER
® (CIRCUIT "A" OR "B")

N APS DUAL DIRECTION @ CAMERA

V:\Traffic Signals\7. Projects\Maryland & Wolseley S-1706\Current_Maryland & Wolseley S-1706.dwg

= $8AEVEVA203 PE'E[%EVSAE*; %C%HE;ZU%TT\'(%N) NO. EQUIPMENT LIST ARM |BASE| B.B. | |NO. EQUIPMENT LIST ARM |BASE| B.B.
o | .
1. | 35" SIGNAL FOR 150 WATT LUMINAIRE 12’ | OD | DD
T.S. TIE LINE (NOT IN USE), T.S. COMM. LINE (NOT IN USE) &
HYDRO 12D ACROSS MARYLAND BRIDGE TO WELLINGTON CRES., Q 2. | CANTILEVER 12’ | OD | DC
SEE DWG. S—-1763 & S—1770 & ES8.
B % 3. | 35" SIGNAL FOR 150 WATT LUMINAIRE 12’ | OD | DD
o
4. | CANTILEVER 16" | OD | DC
5. | CANTILEVER 4 | OD | DC
6. | CANTILEVER 12’ | OD | DC
\ﬁ 7. 110" SIGNAL A A
8. | 332 CABlNET/ 2070 CONTROLLER
9.
SERVICE:
SERVICE: FOR S—1552
PLAN VI EW‘ U N DERG1R2500U N D CONSTRUCTION TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
- EXISTING PROPOSED (AS SHOWN BELOW) DIA.
ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
1 1/2" PE CONDUIT ——— POLE BASE e TYPE "A" - 8 1/8" /’ _ <
2" PE CONDUIT ———— CONTROLLER BASE KEE (B: . Z ? ,z.. SCREW TYPE v o
2" ENT CONDUIT T e e PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
TYPE "F"-99/16"
BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
SPLICE = - 30" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
36" PRECAST PIT @ TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
TYPE "H" -9 7/8" SCREW TYPE
SAW-CUT LOOPS W TYPE "I" - 7 3/4"
REMOVAL b TYPE "J"-105/8", 1 1/4" DIA. BOLTS
R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAN | — 150 WM PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS rocomTs FOINEERS SR
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CITY OF \;\/ I | \] | Q IPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER __ 300 SEWER CURB & CURB RAMP _r STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvyymmiop) RS ‘ ‘ rinni e PU B L I C WO RKS DEPARTM ENT
MANHOLE O WARNING TILE B3 BANNER POLE o e = PRELIMINARY P g TRANSPORTATION DIVISION
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE m LIABILITY DlSCLAlMER NOT'CE
WATER & WASTE REVIEW ID THE DIGITAL INFORMATION PROVIDED FOR YOUR CONVENIENCE HEREIN NOT FOR s
m—————— = IS FOR USE AT YOUR OWN RISK. THE CITY OF WINNIPEG, PUBLIC WORKS
CURB INLET v CULVERT b - GUY-WIRE — C.H. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
o) HYDRO T 77 X % NOTE: INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
HYDR R BUILDING ’ FENCE LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST CHECKED BY ::',“J’SSOMSAETS'O%NEE A':FDORS“’LAJL'E'; SBHEOUCER%EE‘)JSEB[; FSOSRVPELCNNT”:E TRAFF I C S I G NALS
100 GAS INFORMATION AVAILABLE. BUT NO GUARANTEE IS GIVEN THAT ALL EXISTING UTILITIES ARE ISSUED FOR INTERNAL REVIEW 2020/03/26 | R.S. y :
o i == & SUARORAL SHOWN OR THAT THE GIVEN LOGATIONS ARE EXAGT. CONFIRMATION OF EXISTENGE AND DEPARTMENT SHALL NOT N ANY WAY SUFFER ANY. LIABILITY MARYLAND ST. & WOLSELEY AVE. PRANING NUMBER:
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITES | O ISSUED FOR UGS APPROVAL 2020/02/20| R.S. SUFFERED BY SUGH PARTY ARISING FROM THEIR USE OF OR RELIANGE S-1706
EXISTING LEGEND | PROPOSED | EXISTING LEGEND | PROPOSED | EXISTING LEGEND | PROPOSED | strone mooetone wir consraucrion T HE o | rrcon SUFFERED B s PAT )
. (YYYY/MM/DD ! :



AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
C

AutoCAD SHX Text
16'

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
12'

AutoCAD SHX Text
12'

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
SB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
NB

AutoCAD SHX Text
NB

AutoCAD SHX Text
WB

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
4'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
12'

AutoCAD SHX Text
12'

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
3.

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
1.

AutoCAD SHX Text
8.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
(0°)

AutoCAD SHX Text
(0°)

AutoCAD SHX Text
(180°)

AutoCAD SHX Text
(180°)

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
(90°)

AutoCAD SHX Text
P6

AutoCAD SHX Text
P6

AutoCAD SHX Text
P2

AutoCAD SHX Text
P6

AutoCAD SHX Text
P8

AutoCAD SHX Text
P8

AutoCAD SHX Text
P4

AutoCAD SHX Text
P4

AutoCAD SHX Text
P4

AutoCAD SHX Text
7.

AutoCAD SHX Text
10'

AutoCAD SHX Text
SB

AutoCAD SHX Text
WB

AutoCAD SHX Text
P8

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
1650 SEWER INTERCEPTOR

AutoCAD SHX Text
300 HP GAS

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
1500 SEWER INTERCEPTOR

AutoCAD SHX Text
300 HP GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
SL

AutoCAD SHX Text
1800 SEWER

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
HYDRO 6D

AutoCAD SHX Text
SL

AutoCAD SHX Text
1500 SEWER

AutoCAD SHX Text
300 GAS (ABAND.)

AutoCAD SHX Text
300 GAS (ABAND.)

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
SL

AutoCAD SHX Text
300 GAS (ABAND.)

AutoCAD SHX Text
SL

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
P

AutoCAD SHX Text
SERVICE TO SHERBROOK ST., SEE DWG. S-1552

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE), T.S. COMM. LINE (NOT IN USE) & HYDRO 12D ACROSS MARYLAND BRIDGE TO WELLINGTON CRES., SEE DWG. S-1763 & S-1770

AutoCAD SHX Text
300 GAS (ABAND.)

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
200 WM

AutoCAD SHX Text
200 WM

AutoCAD SHX Text
PROPOSED CATCH  BASIN BY OTHERS

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
REMOVE & REPLACE WITH PRECAST PIT

AutoCAD SHX Text
10.

AutoCAD SHX Text
3.

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
1.

AutoCAD SHX Text
8.

AutoCAD SHX Text
E8.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
INSTALL MAST AND DISCONNECT ON NORTHEAST QUADRANT

AutoCAD SHX Text
9.

AutoCAD SHX Text
R

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
7.

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
1.

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
WOLSELEY AVENUE

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
HYDRO MH #WY-5

AutoCAD SHX Text
8.

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
MARYLAND STREET

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
WOLSELEY AVENUE

AutoCAD SHX Text
SERVICE: FOR S-1552

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
16'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
6.

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
T.S. TIE LINE SOUTH

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
35' SIGNAL FOR 150 WATT LUMINAIRE

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
4'

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
9.

AutoCAD SHX Text
10.

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. INSTALL CONDUIT, BASES AND PITS AS SHOWN. 2. INSTALL SERVICE AND GROUND ROD ON WOOD INSTALL SERVICE AND GROUND ROD ON WOOD POLE #8 AS SHOWN. INSTALL MAST AND DISCONNECT ON SW QUADRANT. REMOVE EXISTING SERVICE FROM WOOD POLE #E8. TOTAL LENGTH OF SERVICE CABLE: 125m. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 4. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE INSTALLATION WITH COORDINATE HYDRO SERVICE INSTALLATION WITH PHILLIP BRUCE, (204) 782-2465. RE: JUTA PERMIT No. B23083

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
E8.

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
DC

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
DC

AutoCAD SHX Text
7.

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
A

AutoCAD SHX Text
A


